
Australian Pump Industries Pty Ltd  |  7 Gladstone Road, Castle Hill NSW 2154  |  P: 02 8865 3500 |  F: 02 9894 4240  |  www.aussiepumps.com.au 

   GMP/JUN22/1 All prices excluding GST 

AUSSIE SPARES DIAGRAM & PARTS LIST 

AUSSIE GMP PUMPS:  

Position 
Part  

Number Qty Description List price 

01a 8912 1 Bronze Body B2KQ-A  $2,103 

01b 8913 1 Valve Body B2KQ-A  $307 

01c H631 1 Complete check valve $130 

01d F480 1 Flex. Gasket 33-39-2 $8 

01e F555  1 Tap AISI 316 1”G  $116 

01f F135  1 Conical Tap ¼” Gas  $22 

01g 6237 6 Hex. Head Screw M10x20  $5 

02 F379  1 Bronze Impeller  $361 

03 F429 1 Motor Mec90-1PH 2.2KW   

03 F430  1 Motor Mec90-3PH 2.2KW  $1,439 

03a F427 1 Support poa 

04 F277  1 Stainless Steel Disc B2KQ-A  $73 

05 8855 1 OR 3425 107.62x2.62  $7 

06 6344 1 Counterface 18-38-8  $31 

07 6781 1 Mech. Seal 16-32-13  $196 

08 6029 1 Flex. Gasket B 2618  $8 

09 F156  1 SS Key B 4x4x16 UNI 6604  $6 

10 F553  4 Stainless Steel Screw M10x18 UNI 5739 $4 

11 7399 4 Brass Washer D. 4  $1 

12 7099 4 OEB Screw M 4x10  UNI 5931 $2 

13 7917 1 Stainless Steel Washer Ø8x24x2 $2 

14 7103 1 Brass Nut DIN 1587 M8x1.5  $5 

B2KQ-A/B WITH 2.2KW ELECTRIC MOTOR  
cat EA7V EB88 

REJUVENATION KIT  …  

SAVE ON BUYING INDIVIDUAL PARTS 

GREJK-B2KQ-AB 

(R624) 

Includes check valve, mech seal, 

counterface, gaskets (items 

highlighted yellow) 

$248 




